MAC 2313 - Period: Name: \( € \(
Quiz 4
February 22, 2018 Show your work to earn full credit.

1. Suppose f(z,y,z) = T2yz — zy2°.
(i) Find the gradient of f. (1.5 points)
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(#d) Evaluate the gradient of f at the point (3,~-1,1). (0.5 points)
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(iéi) Determine the rate of change of f at (3, —1,1) in the direction of v = (0,4, —3). (2 points)
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2. Find equations of the tangent plane and normal line to the surface z +y+ z = 3¢%¥* at the point
(0,0,3). (4 points)
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Praoblem References:
1. MAC2313 L15 HW Assignment Problem #10. Answer: (i) V[ = (2eyz — yz5,2%z — 225, 2%y — bayz?). (if) {-5,6,6). (i) §.
2. MAC2313 L16 HW Assignment Problem #4 and Li6 NYTI #1. Answer: Tangent plane: z + y +z = 3. Normal line: {¢,¢,t + 3)



